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Use logarithm to find the value of -(44—%;5%0—5—6 (ii_%%%o—sﬁ é{#du&;{f;ﬂ (A6 AU
gpwed ol +n’+pt Jnmn+np+mp=27 sim+atp=10 Ale
If m+n+p=10 and mn +np + mp =27 then find the value of m’+olkp
‘ Facmﬁzecnbiepolynmﬂdbyﬁcbrﬂwomin 3 - -12x+4 gdi({#(?z[ducfwufdiﬁ (NS PN
o120 + 3T -2+ k. LB S e S edbi | (B)
Find the valuo of k for which expression will becomes perfoct square 4x*-12x + 30 -42x +k
Find the solution set of given equation |3;5xl -% = -:: la_;s_xl -% = g | é{:""-‘{d’b’d}bé’d) (A)-s/der
. mPQ=45cm ,mQR=39cm, mZR=45 4( (WA)»'LJ{»:&,&PQR & [ (B)
ConsmmtaAPQR..andDiawﬂleirAlﬁmdes mPQ=4.5cm , niﬁﬁ=3.9cm , mZR=45"
| ,éqr.wuﬁfmw/mww -9 Ay
Prove that : Therightbisectorsofthesidesofu_uimglemcunmment
or/ |
Jumz.gﬁ;muxm.w;lLumlun&wxm.gz‘,? (,dl I .iw.lf
Prove that : Triangles on the same base and of the same (i.e. oqual) altitodes are equal in arca

27 (Sub) - 12022-90000




